Estimate
Estimate how many squares [ fit in each shape.

2 8

Estimate before you draw.

Estimate
Estimate how many squares fitin each shape.

Estimate before you draw.

Estimate How many cubes can
How many cubes can you put on the back of
you hold in one hand? your hand?

L

| think it will be | think it will be

It was It was

NUMBERS TO 10 | SEE REASONING



E)

Estimate
Estimate how many circles @ fit in each shape.

4
Estimate before you draw.

Estimate vior x
Which of the shapes can fit more than 10 squares?

X

Estimate
Choose a group of objects. Fill a container.
Challenge: make exactly 10 Example:
. . More than 10

Objects Containers

NUMBERS TO 10 | SEE REASONING



E)

: ?
Which Answer? How many dots circled?

® 4 Less than 7
®9 710 10
Py More than 10

No counting! Explain how you know.

Which Answer?
How many dots circled?

Less than 7
7to 10
More than 10
No counting! Explain how you know.
Estimate
oo ¢
® ® o ®
® ® ®
6 green dofs. Estimate how many red dots.
Estimate ® 0o o0 ,°
® o O ®
o © o O
o O ° @ P
® o © ® @
8 orange dofs. Estimate how many blue dots.

NUMBERS TO 20 | SEE REASONING



S —————

Estimate
Circle more than 6 and less than 10 without counting.
® O o © C )
o Q
o o @ o
e © ®

How do you know?

Estimate
Circle more than 8 and less than 16 without counting.

How do you know?

Estimate
Circle more than 12 and less than 20 without counting.

e © ® o ... e 0 o
eo® ©0¢o ©® o ® o
® ©
¢ O ®
How do you know?

D - =-:-»Biae,- BAhbphburc
NUMBERS TO 20 | SEE REASONING



E)

Estimate
Circle more than 6 and less than 12 without counting.

Count to check.

Estimate
Circle more than 8 and less than 16 without counting.

Count to check.

Estimate
Circle more than 10 and less than 20 without counting.

Count to check.

NUMBERS TO 20 | SEE REASONING



Agree or Disagree?
Estimate the number of green dots. No counting!

E)

O

¢ ° ¢ o ° o ¢ [ ¢ ¢ o
® o ° ° ® o . ® o °
¢ o ¢ o * o e © o ©

This is 10

v or x
Lots more green About 6 more
than blue green dots
About 40 Green about
green dots double blue
Read the Pictures
Estimate the number of blue dots. No counting!

o e _ o o ©
:‘ ‘c o %, '0 ® e ® o o e
00“""0 o ® o o 0o
oo © & O ° o o ® o O o

This is 30
\/or x <[ About 4 less blue than red

About 10 less blue than red r

<[ About 20 less blue than red

NUMBERS TO 100

| SEE REASONING



Estimate It is more than... ?
Choose an answer. No counting!

Then, count to check. ﬁ Itis less than...
o o ©
°* . o o. o ® 0o 0%,
¢ @ ® eoeo 0 ° 9 %40
This is 10 This is 30

35 OR 55
16 OR 25
o © o ° o o 4
O
o ® o 0..0
o O ¢ o
O ® o o © o
15 OR 25 26 OR 40
o © O ® o o ¢
o ©
0.00. ? ® 000. ®
23 OR 35

NUMBERS TO 100 | SEE REASONING



E)

Estimate

It is more than... ?

Choose an answer. No counting!
Then, count to check.

ﬁ Itis less than...

® o o © Y ® o © o
® o ® Y
@ P o o
O
g ° ° o o
O ° ® o
This is 20 16 OR 26
o © %0 _° 0o o o0 ® o ©
o © O o o ,.°
® o © o . o ® o
O O
¢ ® o ¢ o ) PY ..
® o .. o ® [ )
o ® o ..0.0
23 OR 36 32 OR 48
° o ©® o " o ° ¢ ) o ¢ ®
o o ®
® o o o o ® e ° ®
o o o “ () ¢ “ o
o () ° °
o o o ® o o [ PS ¢ ®
50 OR 90

NUMBERS TO 100

| SEE REASONING



Read the Pictures

The whole is...
The parts are...

@ O
@ O

The whole is...
The parts are...

@ O
O
@ @

The whole is...

The parts are...

®@eO
00

The whole is...

The parts are...

0 ® O
00

The whole is. ..
The parts are...

"N N NO
"N N NO

ADDITION

The whole is...
The parts are...

© @
@ @

The whole is...
The parts are...

o @
O
o O

The whole is...

The parts are...

@®O
- NONO

The whole is...

The parts are...

ONON N
ONON

The whole is...
The parts are...

"N N NO
" N NONO

The whole is...
The parts are...

O @
@ O

The whole is...
The parts are...

® @
O
® @

The whole is...

The parts are...

ONON
ONON

The whole is...

The parts are...

@® OO0
00

The whole is...
The parts are...

000
"N N NO

The whole is. ..
The parts are...

O @
O O

The whole is. ..
The parts are...

® @
O
o O

The whole is...
The parts are...

ON N
ONONO,

The whole is. ..
The parts are...

000
ONON®)

The whole is...
The parts are...

ONONON
000

| SEE REASONING



Read the Pictures

The whole is...

The parts are...

The whole is...

The parts are...

The whole is...

The parts are...

The whole is...
The parts are...

L 2K 2K J |02 L 2K 2K J 0|00 |2
@|\@ |2 ®|0|D 0|02 o|0|0
The whole is... The whole is... The whole is... The whole is...

The parts are...

The parts are...

The parts are...

The parts are...

o|le|a|@ o|lo|2|@® |2\ @|@ ojojo|0
0|2 |@ 0|2 [ BK B BK | 0|00
The whole is... The whole is... The whole is... The whole is...

The parts are...

The parts are...

The parts are...

The parts are...

|00 |2 0|00 |2 o|0|0|0 |2 o|0|0|0|O
0|00 |2 0|0|®|@ o|0|j0 |0 @|@|e|e
The whole is... The whole is... The whole is... The whole is...

The parts are...

The parts are...

The parts are...

The parts are...

0|0|0|®|® ol@|@|@|@ o|0o|0|0G|O oj0o|j0|0|O
0|00 |2 0|2|®|@ 0|00 (0|D o\l o|@|@|D
The whole is... The whole is... The whole is... The whole is...

The parts are...

The parts are...

The parts are...

The parts are...

00|00 |2 o|0|j0|0 |0 o|0|0|0 |0 0|0 9|2
o|j0|0(0 |2 0|09 |9 |2 (2|2 |2|@ ®|0|0|2|2
ADDITION | SEE REASONING



Correct or Not Correct? v'or x

2+4=6 [

@

@

@

Read the Pictures

@

Read the Pictures

0|2 |?

®2|@

S(S|@
S

ADDITION

®
@
@

S(S|e
S(S|@

6=2+4

V4=2+6

I
+

S(S|®
S(S|@
S

S(O|S®
S(@®@|®
S|e|e

|
+

| SEE REASONING



Read the Pictures —ToTe
|00 ®|2|9|® 2|20
®(0|2 ®(2|2 @\@|e
=5+ =2+ + =
The whole is... The parts are... and...
Explore
Show the answers with counters: b=4+
6= +5
6= +3
6=2+
6= +0
Explore
Show the answers with counters: 7=3+
/= +5
/=1+
/=0+
7= |+

ADDITION | SEE REASONING



Explore 8=3+
Show the answers with counters:
8= + 2
8 = + 6
8=4+
8 = + 1
8=5+
The whole is... The parfs are... and...
8=0+
Explore
Show the answers with counters:
9= + 4
9= + 3
9=2+
9=8+
9= +5
9=1+
9=9+

The whole is...  The parts are... and...

ADDITION | SEE REASONING



ﬂ

Read the Picture What do you see?

[ 6 and 1 ? o O
® PY 3and 3
and 1
4 and 3
[ r o o ©
Read the Picture What do you see?
a+a o ® "
o @ N
° N 3+1+4]

Read the Picture

ADDITION | SEE REASONING



Different Ways

Step 1: show the parts Step 2: write the number sentence
Example:

@ @ _o < o

3+4=7 2+5=7 2+2+3=7
° ° ° ° o ®

oo °* oo *° oo °

o O e © e ©

e © ¢ o e © o o e © o o
o ® o © o ©

e © o o e © o o e © o o
° o °
e o e o C

ADDITION | SEE REASONING



Different Ways

Step 1: show the parts Step 2: write the number sentence

Example:
o o e ° (¢ o o]
® [0 o] ° (6 o o]
o Lo o)
4+4=8 6+2=8 3+3+2=8
o o O o o O o o O
o O O
e o O o o O o o O
o o e o o o
e o o o e o o o ® © o o

ADDITION | SEE REASONING



Explain

What's the same? What's different?

®o|0|0|0O |60 |00
@\ Q|| 2 @\ 2|2

+ = + =
|60 |00 o|0|0|0O
| @ @\2 |2

+ = + =

Explain What's the same? What's different?
o|0|0 o|0|0|0
@\? |2 @\ |?

+ = + =
| 06|0|0 |0 | 60|0(0 |0
|\ 2|2 |2|? @\ Q|2 |2

+ = + =

ADDITION | SEE REASONING




E)

| know... so...

[ 2K 2K | o000 o|0|0|0|O
@\ @@ @\ 2|2 |@ @\ 2|2 |2
3+3=6 4+4=8 5+5=10
sod+ 3= so5+4= so5+ 6=
|00 o|0|0|0 o|0|0(0 |0
@\ 2 |\@ @\ 2| @|® @\ @\@|e |
3+3=6 4+4=8 5+5=10
sod+2= so3+4= so5+ =8

| know... so...

3+3=6 4+4=8 5+5=10
so2+3= so 3+ =8 so/7+5=

4+4=8 5+5=10 5+5=10
sod+3= so +46=10 so5+ 6=

Small Difference Questions

5+5= 4+ 4= 5+5=
5+ 4= 5+3= 6+ 4=
4+5= 4+3= 7+ 4=

ADDITION | SEE REASONING



| know... so...

4+5-= —_ [ololole _— 4+ =7
AL

5+3= — 4+4=8 T +4=9

St+4= ~— [o]e]efele] — 4*LI=10
o|e|e|e|o

5+7= " Tses=10 [ ]+s=m

Read the Pictures

Double... is... ... isdouble... Double... is... ... isdouble...
o|0o|j0|OG|OG||O o|0o|j0|jO0O |G| |00
Q||| |@ Qlo|\@e|e|e| |@|@
Double... is... ... isdouble... Double... is... ... isdouble...
(A 2K 2K AK ABK 2K JK J o|0|0|(0O |G| | O|O|OG|O
leo|e|e| e |@|e|e elo|e|lo|e| |9|@|2|@

| know... so...

4+7 Double 6 =12 s 1
+ = + =
T~ [ele[e|e|e]e —
2|lo|e|e|e| o
7+5= — 6+6=12 ™ *6=13

ADDITION | SEE REASONING



| know... so...

847 Double 7 =14
+ =
N [o]olo]o]o] (o]0
2o e|le|e||e|o
6+ =13[/
7+7=14
| know... so...
Double 8 = 16
8+9=
N [o[o[o[o]e] [e]0]e
— |lel|e|ele|e||e|e]|e
+8=15 8+8=16

Small Difference Questions

5+5= 6+ 6=
6+4= 7+7 =
4+ 6= 7+ 6=
4+7= 8+ 6=

Small Difference Questions

5+5= 6+ 6=
7+5= 5+7=
8+ 6= 5+8=
ADDITION

8+6=

/ \

+7=15

8+7=

/ \

7+7=
6+7 =

7+7=
7+9=
6+8=

| SEE REASONING



Read the Picture

8 5 2

Read the Picture

iAdd

8+5+2=

iAdd

6+7+3=

first

o O
o O
o o o
o oo o
(2K o0 o
6 7 3
Explain
° °
o o o Add +
° ° °
° ole] [o
ole| [o]e] [o 6+7+4=
6 7 4
° °
e o Add +
° ° °
° ole] [o
° ole| [@ 3+7+5=
3 7 5

ADDITION

first

3+5+5=

Add + first

2+4+8=

Add + first

| SEE REASONING



50

Explain
() First, add... and...
bl ® Move the dots to make...
o0 oo _
ole olo oo My way is to...
o0 o0 o0
Q+4+7=
9 4 7
Explain
P P First, add... and...
® ® hd Move the dots to make...
o o o .
o ° P My way is fo...
o o C 2K ) 445 ;
+5+6=
4 5 6
Read the Pictures
o o 7+5+3=
o [ )
° ° e My method:
o|0 o ()
o|0 o ()
7 5 3
hd 9+5+4=
o|0
o0 |2 My method:
o0 o|0 o0
o0 o|0 o0
9 5 4

ADDITION | SEE REASONING



| know... so...

Example: 5+5=10 3+7=10
4r4a=8 5 10 3 10
+ + = + + =
4+3+1=8
6+5=11 7+7=14
+ + =11 + + =14

Explain the Mistake

Answer using three of the digits:

+ + =8 2 4 6

N6+1+1=8

How Many Ways?

Answer using three of the digits:
+ + =10 1

3 5 7

Level 1: Find an answer 2 4 6 8
Level 2: Find different answers
Level 3: Find all the answers

ADDITION | SEE REASONING



E)

Different Wdys How many dots? No counting!
o o
@ o
First, | count ° ° i | made a 10
the 5s Y ole
ole ole
o o
ole o
[Irnove ]> ole ole | count
one dot ole N the gaps
oo ole

Explain How many dots?  No counting!

L ® [ ] L ® o
o ® e|® | J ® o
e|e ® e|® ® o L
ol ® o|® o ® o

e|e o eo|® L ® e|e

dots dots dots
° E E

e o ole| [eofe

o o ole] [e]e

L o|® o|® e|e

® oo ole] [ofe

dots dots dots

ADDITION

| SEE REASONING



Explain the Mistakes

6+4=

E)

Which Answer?

0\ @\ D2 2 2 © @
@ o0
4
Partition 4 info 3 and 1
AV A A A O‘C
2 @ |? e O
4

Partition 5info 1 and 4

7+4=

@

@

@

)

@

Partition 4 info 2 and 2 ?

Partition 4 info 3 and 1

7+3=

@

@

@

2

@

@

@

ADDITION

Partition 3 info 2 and 1 r ﬁ Do not partition 3

| SEE REASONING



Read the Pictures

Partition 3 into and Partition 4 into and
@ 1@ |©|92|@ ® @\ e\ @o|@|e o O
2|e|e o © o|le|e|e TN )
8§+3= Q+4=
Partition 4 into and Partition 5 into and
| |\e|e|e o O @l ©|e|e|e o © ®
@@ ® ® @\ @|® e ©
7+4= 8+5=
Partition 3 into and Partition 6 into and
o|le|le|e|e o|le|leo|lo|le| © ¢ ©®
@ @)
e|e|e|e ® e|e|le|e oo ©
9+3= 9+ 6=
Partition 4 into and Partition 5 into and
@1@Q|@|2|@ e O e|@|@|@|e [ ® o
Q2|2 e © @\ ® O
8+4= 7+5=
Partition 6 into and Partition 5 into and
o|le|lo|le|le| o ¢ © e|le|le|le|le| @ @
el|e o o0 ® 2l|le|o|e oo ®
7+ 6= 9+5=

ADDITION

| SEE REASONING



Finish the Pictures

E)

?+3=(12 8+5= 7+4=
o|le|o|e|e| e e|le|e|e|e ele|e|e|e
eleo|o|e|e ole|e 2|
Q+|(1|+]|2 8 + + 7+ +
9+4= 7+5= 8§+3=
e|lo|e|e|e o|le|o|e|e elo|e|o|e
2|lo|e|e AR o|le|e
9+ + 7+ + 8 + +
Different Ways
2|e o0 :
= Idid7 +3+
7+5 2|e o0 4 !
2|e ol®
[ldid5+5+ ? 2le] |9|® ildiddouble ]
2|e o0
Explain
@ o
8+7=
2 hd | used a
1@ hd doubles fact
Imadealor 2|2 |9|®
2|e o0

ADDITION

| SEE REASONING



| know... so...

@\ ®

e|e olel|olo|e 2lole|elo| [e]e
ele 2|lo|e|e|e olojo|o|o|[e]e
2| o|0

ole] |o]® 7+3=10 7+7=14
10+4=14 7 4= 74+8=

9+ 4=

| know... so...

10+3=13 6+6=12 5+5=10
7+3= 6+5= 7+5=
6+6=12 10+6=16 2+8=10
/+6= 6+10= 3+8=
6+4=10 7+7=14 7+7=14
7+ 4= 7+ 6= 8+6=
Small Difference Questions

10+3= b6+ 6= 7+ 3=
9+3: 7+6= 7+4:
9+ 4= b6+7= 4+7 =
9+ 5= 6+ 8= 5+6=
ADDITION | SEE REASONING



| know... so...

A0

ele o|o|e|e|e 2|o|e|e|o

2le| |9]9 ADD00 olo|eo|o]e

2|le| |o]e®

elo| |e]e 6+4=10 8+8=16
10+6=16 6+5= 9+8=

9+ 6=

| know... so...

10+5=15 9+9=18 7+5=12
9+5= 9+8= 8+5=
7+7=14 6+10=16 3+7=10
/+8= 6+9= 2+8=
4+6=10 8+8=16 8+8=16
S+é6= 8+7= 9+7=
Small Difference Questions

6+ 10 = 6+ 6= /+3=
6+ 9= /+ 7= /+ 4=
9+ 6= 8+7/= /+ 5=
8+ 6= 9+ 6= 8+4=
ADDITION | SEE REASONING



)
|

=
=2
B
!
¥
1
<

CoLL

I

Which Answer?

6-2=5
1 2 3 4 8 9 10
OR
6-2=4 6,5
¥ N ¥

Which Answer?

8-3=5 <8.7.6
YRV

T2 3 11411516117 ]18]|]%2]]|10
OR

8-3=

T112(13114]]5 21110

SUBTRACTION | SEE REASONING



Explain

olo|e olo|e|e
olo|e 6-1= 10010 8-7=
r—l\

backwards because... backwards because...

For this question, | do coun’r] For this question, | do not count ]

Read the Pictures

For each question, do you count backwards?

6—6= /—-2=
Did you count backwards? Did you count backwards?
YES NO YES NO
S5—4= 8-1=
Did you count backwards? Did you count backwards?
YES NO YES NO

SUBTRACTION | SEE REASONING



Explain
eole[elee eole[ele
olole]|e 9-1= °lo|e /-6=

The dot | visualize The dots | visualize
subtracting is... subtracting are...

Read the Pictures
Answer without crossing out the dofs:

Read the Pictures
Answer without crossing out the dofs:

8-7= 10-9=

6-1= 10-9 =

SUBTRACTION | SEE REASONING



Spot the Pattern

SUBTRACTION

What do you notice?

Example:

What do you notice?

What do you notice?

| SEE REASONING



Spot the Pattern

Example:
7717
8—4= 7] 7574
8-5= What do you nofice?
8-6=
Spot the Pattern Example:
~TeTeTaTs ol|z]z]|z]# _
sTelelelsl 10-6= o|z|z|z|# 10-2=5
ole|e|e]e B
olefefe 7-95= What do you notice?
o|o|o|o
ole|e|e §-4=
Spot the Pattern Example:
9_ 6= 1] 7-3=4
8-6= What do you nofice?

SUBTRACTION | SEE REASONING



Explain the Mistake

Answer using two of the digits:
4 4-5=1

Give the correct answer.

Extend
Answer using two of the digits:
- =] - =1 - =2
6 5 4
5 3 7 8 3 6

Different Ways

Answer using four of the digits:

SUBTRACTION | SEE REASONING



Read the Picture

Ben had 4 sweets. Then, he ate 3 sweets.
How many sweets did Ben have left?

The dots that & w The dot thatis
are Crossed Off e—p. — not crossed off
represent... w © represents...

Read the Picture

There were 4 people sat at the table.
There was 1 adult and some children.
How many children were sat at the table?

The red dot The yellow dot

ﬂ
represents... ® represents...

Finish the Question

There were 5 eggs in a box.

Then, 2 eggs

4

How many

Finish the Question

® There are 6 children at the park.

° There are 4
»

How many

SUBTRACTION | SEE REASONING



Which Picture?

There were 5 balloons. Then, 3 balloons popped.

How many balloons are there now?

O“
o %

<+ OR —>

Which Picture?

There are 5 children in the playground.
2 of the children are wearing a coat.

E)

How many children are not wearing a coat?

z ©
g ©

<+—— OR —>

Which Picture

Match the stories to the pictures.

Jen has 6 cats.

2 of her cats are inside.
How many cats are outside?

SUBTRACTION

Tom had 6 sweets.
Then, he ate 2 sweetfs.
How many sweets are left?

| SEE REASONING
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